FRISEC M

FAfE R SF1064108198

=]

EEdt IV T8 EE

K A& OUT | IN | GR | HDCP | NET B
= 42 2| 72| 348 |rn
5YF a1 | 47| 120 350 |An
B F 40 a0 | s8] 352 |rz
&R 52 52 | 16.8 | 35.2 [Am
BEfE a6 | 46| 108 352 [AE-ma
T 45 45| 96| 354 [Am
B 45| 45| 96| 35.4|nm
% 38 38| 24| 356 |rm
& s | 4as| 84l 356 |am
FEX 43 43 7.2 | 35.8 |AE -RE
BT 37 [ (87 1.2 3.8 [BG

12 2% B 3| 43| 7.2 358

13 luo e 54 54 | 18.0] 36.0

14 |z g 48| 48| 120 36.0
Ez&: B a1 | 41| 108 362 |mn
16 (%t #Hhax 41 s | a8 362

17 e m— # 41 8| 36.2

18 (4@ NS 46 46| 96| 364
g PN 40 20| 36| 36.4 |mm
fr’AF'EI 1B 40 40| 36| 364 |ma
21 |a8 HK 40 40| 36| 364

2 s = 39| 39| 24| 366

23 |\ BB 45| 45| 84| 36.6

2% |k =& 45| 45| 84| 366
xm %ih 45| 45| 84| 366 |mn
26 |3t EE 45 45| 84| 366

21 =k HA 51 51| 14.4 | 36.6

28 |7 2@ 45| 45| 84| 366

29 |iTEE — 45| 45| 84| 36.6
22& I 38| 38| 1.2 36.8[mn
3 |EH mk 50 50 [ 13.2 | 36.8

32 |#HR = s | aa| 72| 368

3 |EA O s | 4a| 7.2 36.8

34 |BEL ER 43 s3] 60 370
s #x 29| 49| 120] 37.0 |mem
36 |tk RIS 49| 49| 120 370

37 |sTis E— $3| 43| 60| 370

38 |mE ®iT 42 2| s8] 372

39 IS 42 4.8 | 37.2 [LF+—2EH-BG
1%2& B— 42 2| s8] 372 |mz
M |EE ER 48| 48| 108 37.2

8 |B5% B 2| 4| 48| 372

13 [mm = 42 2| s8] 372

44 |iEE B 42 2| s8] 372




45 pr Nl 46 46 8.4 37.6 |RE

16 [mA FI% 40 20| 24| 316

47 |RKR =— 40 40 2.4 37.6

18 |memE rz 52 52| 144 | 3.6

49 |ZEHET EESE 46 46 8.4 37.6

50 EEEERD 45 15| 72| 37.8 |

51 | HEEH 50 50 12.0 38.0

52 |mE M 55| 55| 168 382

b3 |iIEE M@t 55 55 16. 8 38.2

54 | EX 42 2| 36| 384

ﬁ.“m 3 42 42 6| 38.4 |mE

56 |KM8 = 18 18| 96| 384

57 |&HFW BE= 48 48 9.6 38.4

58 |44 FR— 18| 48| 96| 384

59 | A EEZ 54 54 15.6 38.4

o BT 47 27| 84] 386 |ma

61 |18 A 53 53 14. 4 38.6

62 |m% = 53 53 | 14.4 | 38.6

63 |WE #H 53 53 14. 4 38.6

64 |21l T8 47| 47| 84| 386

o [T 53| 53| 14.4| 386 |mH

66 |k #i— 51 51| 12.0 | 39.0

67 | = 5| 45| 60] 390

68 |mB e 45 5| 60| 39.0

69 w5 =i 45 55| 60| 39.0

L 45 15| 60| 39.0 |mE

1 [Ex wn 56 | 56| 168 39.2

72 |wo s® 29| 49| 96| 39.4

13 |B% & 29| 49| 96| 304

4 |=e Ex 49 29| 96| 39.4

5 BT 43 13| 36| 39.4 |mE

76 |2 IE# 48 48 8.4 39.6

71 e o 47 7| 72| 39.8

18 |5KiI H=ER 47 47 1.2 39.8

79 |z AET 53 53 | 13.2 | 39.8

Bz s= 47 7| 72] 308 |mE

81 |51 Fre 57| 57| 168 402

82 |AEE %= 51 51 10. 8 40.2

83 |=t: AET 50 50 | 9.6 | 40.4

84 /Ity [EFH 50 50 9.6 40.4

s 49 29| 84 406 |mE

86 |&=f[ = 43 43 2.4 40.6

87 12 m|a 29| 49| 84| 406

88 |HE =R 48 48 1.2 40.8

89 |2 28 53| 53| 120 41.0
O EA 47 47 6.0 41.0 |F|RE

ﬂﬁﬁ i 4 H| 00| 4.0




92 |®Rsk fE{Z 47 47 6.0 41.0

93 |#M tEF 52 52 10. 8 41.2

9 (A& HiE 52 52 10. 8 41.2
(s EREEE 51 51| 96| 414 |ma

9% |I®HF EE 45 45 3.6 41.4

97 |&EK #H= 56 56 14. 4 41.6

98 |ZW Hm=ER 55 55 13.2 41.8

99 |RF Bt 49 49 1.2 41.8
== = 52| 52| 96| 424 |mH

101 | H# HEF 52 52 9.6 42.4

102 |#&H B— 45 45 2.4 42.6

103 |7c#t 1ERA 50 50 1.2 42.8

104 |E@E #£F 56 56 13.2 42.8
105 RN 54 54 | 108 | 43.2 |8

106 |h/hE E 47 47 3.6 43.4

107 (IE E# 62 62 18.0 44.0

108 |k 5 47 47 2.4 44.6

109 |HE EA 53 53 8.4 44.6

BB Kyi2EEEEIN 55 55 9.6 45 .4 |FRE
E.zik P 61| 61| 156 454 |me
BmEAEWRYT - EBElELEREEM-BELEFV:2-3-4-7-8-9 10-11-12-13-16-17



